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Indirect measurement is a method of
using proportions to find an unknown
length or distance in similar figures.

Find the unknown length iﬁ sivlvnilar figures.
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QR is 56 centimeters.
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Find the unknown length in similar figures.
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The inside triangle is similar in shape to the

outside triangle. Find the length of the base of
the inside triangle.
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Let x = the base of the inside triangle. 12in.
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The rectangle on the left is similar in shape to

the rectangle on the right. Find the width of
the right rectangle. 12 cm
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City officials want to know the height of a traffic light.
Estimate the height of the traffic light.
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The inside triangle is similar in shape to the outside triangle.
Find the height of the outside triangle.
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Find the unknown length in each pair of
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Find the unknown length in each pair of
similar figures.

3. The width of the smaller rectangular cake
is 5.75in. The width of a larger rectangular
cake is 9.25 in. Estimate the length of the
larger rectangular cake.
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Kareem and Julio have rectangular
model train layouts that are similar to
each other. Julio’s layout is 4 feet by
7 feet. Kareem’s layout is 6 feet
wide. What is the length of Kareem’s
layout?
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A 6-foot-tall adult casts a shadow

that is 15 feet long. Estimate the R‘\\\ N
height of a child who casts a 10-foot 6ft “\-)‘(ﬁ "

shadow.
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